BC: Q403 CHAPTER 10 - LESSON 4 (REVIEW)

1. The diagram above shows the graphs of » = 4cos(28) and r =2 . Set up, but do not evaluate,
an expression involving one or more integrals, used to find the area of the light shaded region.
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2. Revisit HW #47 Find the area within one loop of »* = 4cos(26)
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3. Text Problem #48. Find the area inside the curve r* =2sin(30). —> p = m
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4. Consider r =3cos(@)+2. Setup, buf do not evaiuate an expression involving one or more
integrals used to find the area inside the large loop but outside the small loop. L_im ocon
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16. 0< 6 < 2mto complete one revolution.
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